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No. of Questions/Jv=i ® €T : 200
Time/®wd : 3 Hours /5w Full Marks /quits : 600

Note/dre: (1) Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

i gl B T FE H A ® | TAF IH 3 IF F 2| TAF TG IW F
o T % FEr Swm) A% IgHiE YW W qwWE = A

(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

e Tt Swfci® I Al IW & e vl &, @ Feean ad 3w 3

(3) This paper contains 60 questions of Physics, 60 questions of Chemistry and
80 questions of Biology.

W IE-faE d 60 yw sitfaw fawm ¥, 60 W wWER W & aw 80 ¥W

Safaym & 21
PHYSICS
(vitfe famm)
1. Curl of vector represents tendency for force about a point. It was used for the first time
by
(1) Newton (2) Maxwell (3) Gauss (4) Laplace

(325) 1 : (P.T.0.)
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w frg ¥ 9 o ww A Wi H vt w3 5 R el F w W swEm fe s )
TR Iwam dewem frmfafaa g fean mn

(1) = (2) Aega (3) & (4) <

The direction of velocity is randomly distributed in a group of very large number of
atoms. If speed of each atom is v, then the magnitude of relative velocity between a pair
of atoms averaged over all the pairs would be

(1) v (2) less than v (3) greater than v (4) zero

e % UE a3 g W A% 9N I e, sifefie w0 @ fyaf@ ?) oPR y_s W w9 v
2, O TF Y- F ANTEE A % ue w1 shwa wE ¥ o wenm-gre & ol fefafea
gm

(1) v (2) v & w9 3) v fuw 4) =

If the ratio of momentum and kinetic energy of a particle is inversely proportional to
time, then its motion is

(1) uniformly accelerated (2) simple harmonic

(3) uniform (4) uniformly retarded

e frefi w1 F @I qu ofew S W UM WWE w1 gopAurd B, @ @R R e R
# 7t

(1) e @@ (2) W s (3) THEHH (4) wHEEE HfE

Two identical smooth spherical balls are kept in contact with each other on a smooth
surface. A third identical ball strikes them symmetrically and remains at rest after the
impact. The coefficient of restitution between the balls would be

Qe e M v e 7 W g § gIe @ R ) wE dfmn wmen en @A

Ml § wwfidd: TR R qw T % W fRR @ W ?) Ml ¥ o yemeE-uiE
frafafaa gm '

1 1 3 2
1) - 2) = d <
(1) @ 3 S 4 3
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Assuming the earth’s radius to be R, at what height above the earth’s surface the total
energy of a satellite would be equal to its potential energy at a height of 2R ?

wqwﬁmmem,ﬁmmﬁwmm@mﬁﬁmm
& Bt freht 3w feufest oo e @ 2R & S W At 27

R R
(1) 7 (2) a 3) R (4) 3R

The minimum tension in the string of length L of a pendulum is half of the maximum
tension. If the angular amplitude is 0, then cos® would be

L 9= o1 W f S0 W gAaH a9 I6F EdN a2 AR e 6 v
ITM 6 8, @ cosO EMY

3 2 1 1
1 2 @ 3 @ 3 4 +

A source of sound of frequency 400 Hz is placed in a lake. What would be the frequency
of sound recorded by an observer on the bank of the lake if the velocity of sound in
water is 5 times its velocity in air?

400 Hz @fd aen @ff &1 & 60 @ e ¥ ot fBm 2 ok o F @t B R oz 3
Ih e Aot TR, @ oda F R @R Yww g wf B Feaffes smafy sfdiRe ah

(1) 80 Hz (2) 2000 Hz (3) 400 Hz (4) 200 Hz

If the internal energy of n; moles of hydrogen at a temperature T is equal to that of n,

moles of helium at temperature 2T, then ~:L would be

nj

e TR F oy WA H TAREF S T aOFH W I @ 2 R 27 awwn w R ¥
nQﬁéﬁWWﬁ%,aﬂﬁ’ﬁ

nj

2 8 : 4 6
(1) z (2) = (3) T (4) z

3 ' (P.T.0.)
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11.

12.

(325)

The deviation suffered by a Laser beam in passing through an equilateral prism of
u =+/2 is 30°. The Laser beam inside the prism would make following angle with its
base

afe T SW G u=+2 I watEg e & W W 30° ¥ fEfaa B ?, @ fen F i
T g5 a1 Bew % oMy % = w1 A am

(1) o° (2) 15° (3) 30° (4) 45°

When many tiny water drops coalesce to form a big drop

(1) surface tension is increased (2) surface tension is decreased
(3) energy is absorbed (4) energy is liberated

afg wet fi g f o B 4L - A e T g2, @

(1) I8 a4 &g Srar R (2) Y8 TG T2 STl B

(3) =it T arawivw grar (4) =t Iwfela dredt R

If two sound waves of wavelengths 1:02 m and 1 m produce 6 beats per second in a
gas, then the speed of sound in the gas would be

AR 102 m @ 1 m #AR a9 wfi-da R Mo ¥ 6 foe ufy Q¥ ot @l 39w
FA 8, @ 39 T\ A wl f afg grf

(1) 300 m/sec (2) 306 m/sec (3) 320 m/sec (4) 324 m/sec

Two Laser beams of same wavelength and intensities I and 4] are superposed. The
minimum and maximum possible intensities of the resulting Laser beam would be

(1) I and 9I (2) I and 5I (3) 3I and 5I (4) 3I and 9I

UF € AR qu1 [ @ 4] a9 QAW W -gm W semfe @ R s ) @ an
arefl S g9 1 qAan v erfuswan dgar fiafafan aef

(1) I 3z or ©(2) I 35l (3) 3I ax 571 (4) 3I 391
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‘A superconductor is also

(1) ferromagnetic (2) paramagnetic

(3) antiferromagnetic (4) diamagnetic

& sfames frafafga off @ 2
(1) rEgradm (2) gg=ER (3) wiieagmhy (4) g

Two identical coaxial circular coils carry the same current in the same direction. If the
coils approach each other, the current in

(1) each coil would increase

(2) each coil would remain the same

(3) each coil would decrease

(4) one coil would increase and in the other decrease

QA A T T Feel § @ @ A A few ow wne R § vaRa @ @ 2 wm e
Feell h-gm F W oM €, 9 fga ww

(1) Y% Feet § oz SEh

() 7% Feeht § soh & @

(3) Y% Foe ¥ we wh

(4) & Feeh w3 It aur g § ge wmeh

According to Bohr theory the maximum positive charge on the nucleus of a stable atom
would be

M F Rigra F IR T T Tw B A ® watie e omw Aol
(1) 92 (2) 105 (3) 122 (4) 137
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If a battery produces the same power when separately connected to two resistances R,
and R,, then its internal resistance would be

e uw A2h afi-ad ¥ R, a0 R, Wadyw d e W w & vie I w2, @ IgH
st gy B

(1) &“2—@ @ IR ;R 2 @) JRR; (4) R, +R,

The electric charge to be placed at the centre of the line joining two equal charges g so
that the system is in equilibrium should be

F S AW g H N Telt W F 9 # fhawm faga omaw w9 fF wr e amarseen
d ® TH?

4 _4 3) 4 _4
(1) 4 (2) (3) 5 (4) 5

A ferroelectric material is also

(1) ferromagnetic (2) ferrimagnetic

(3) piezoelectric (4) superconductor

wh iR ga frafakas o @ 2

(1) =g grehE (2) wiAafes (3) =@ faerdra (4) sHfemerR

The phenomenon of electromagnetism was discovered by

(1) Oersted (2) Ampere (3) Faraday (4) Lenz
frE-grasa & e f @9 T=fafas go & mwh
(1) sz (2) TR (3) % 4)

5 (P.T.0.)
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The probability of survival of a radioactive atom for one mean life is
T el T & wh mer oy @ f saehfE O 2

(1) In2 @ 22 @ 1 @) 1-1
e e e

B-rays emitted by a radioactive material are related to the following interaction

(1) weak (2) strong

(3) electromagnetic (4) gravitational

el vl & Frarery arch p-fredl et sriaem & e e @

(1) g @ v @) famgeda (4) T

A neutron is composed of

(1) one up quark and two down quarks

(2) three up quarks

(3) three down quarks

(4) two up quarks and one down quark

=gt freffas @ Affa o 2

(1) & ‘o0’ o 3R @ ‘s’ T (2) 9 ‘o’ @k

(3) dF ‘T wE 4 A ‘9w R ™ TE wS

A semiconductor Laser is made of a/an

(1) Ruby crystal (2) p-n junction (3) organic dye (4) Germanium
Ffares dw Pt @ a9 @ 2
(1) &t frea (2) p-n af (3) e @ (4) sy

7 ' (P.T.O.)
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24. Making a hologram is based on the following phenomenon

(1) interference (2) diffraction

(3) -photoelectric effect (4) Faraday effect
Bamm & s Frefafaa gen wosnatfa g R

(1) =afqer (2) faada

(3) T Iga w94 (4) ¥ g

25. Raman effect results due to
(1) absorption of light by molecules
(2) elastic scattering of light by molecules
(3) inelastic scattering of light by molecules

(4) emission of light by molecules

e e feafafigd sror @ g R

(1) 31N g YIS T 9w (2) HAUST GR WHIN 1 TRy el
(3) IS FU THEW F UERY TR (4) S gE T e

26. A sphere of steel floats on water with exactly half of it submerged. Assuming the
densities of steel and water to be 7-9x10% kg / m3 and 10° kg /m?3 respectively and the

surface tension of water to be 7x1072 N, then the radius of the sphere would be
approximately

@m?ﬂrﬁmzﬁmmﬁw@m%mﬂﬁ@mﬁ%m&xﬁmﬁm%u&mam
oE g FA: 7-9x10° kg/m® w6 10° kg/m® @ aw 9Fh F 98 @@ 7x102 N @,
aﬁﬁﬁﬁﬁwmmﬁmﬁrﬁaﬁ@ﬂﬁ

(1) 12 mm (2) 24 mm (3) 36 mm (4) 48 mm

(325) 8
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Which of the following statements is true for the force acting on the bob of a
pendulum?

(1) It is zero at the mean position

(2) It is zero at the extreme positions

(3) It is maximum at the mean position

(4) It is the same -at the mean position and the extreme positions

el 3 T A A ww % Ry el 3 @ g e a7

(1) ¥& 7T WA W = Far

(2) & -0 W W I R

(3) TE A WM W IRrwaw dar 2

(4) T M WA TN W WH W o D 2

A particle is thrown vertically up to reach a maximum height h. At what height from the

ground a second particle be Just dropped at the same time so that both strike the
ground simultaneously?

@ma%3wfmﬁmﬁmaﬁaﬁiﬁmm%ﬁaémwﬁmmhaﬁlm
mmﬁmmm@—@mﬁaymmaﬁm@mammﬁﬁ?

(1) h (2) 2h (3) 3h (4) 4h
A man capable of swimming at 5 km/h wants to cross a river from its north bank

which is flowing from west to east at a speed of 10 km/h. In order to cross the river in
the shortest time the man should swim in a direction

(1) tan"!2 west of south (2) tan‘l-% south of east

v

(3) due south (4) 30° south of west

9 (P.T.O.)
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‘(1)

T Aeft 5 km/h i 1fa A oelt § R wE@ R) 98 oftw & @@ A 3R 10 km/h 6 Ty
] g et T F I R A 9 f R F Twa R Fn-d-%w gow ¥ 9 A W o ¥
foau 38 fefafge e § don =i

(1) 2f&wr @ offem A s tan™!12 % AU W

2) {{aﬁaféivrﬁaﬁttan”%%mm

(3) Tfawr & I
(4) ufram @ 3fgm A o 30° F P w

What would be the maximum velocity of a block of mass m pulled by a constant power

P on a rough horizontal surface if the coefficient of friction between the block and the
surface is p ?

m?iaﬁi?ﬂéQ&@#ﬁﬁaéﬁamm@ﬁfﬁamﬁﬁpﬁ@mm@%lwﬁww

uE & o W owdn e @, D OEd 6§ stfean TR T el
Gl @) kam @ L2

gm P (4) nmgP

The kinetic energy of an electron in a circular orbit of hydrogen atom is E. The energy
required to make the electron escape to infinity is

- EREI Ty g w6 § @ R e el E {1 e @ s @ am R
I T @ IR F A omavgs e enf

E E
1) 2E 2 = 4) =

A satellite revolves around the earth with angular speed w in a circular orbit of radius r.
The acceleration due to gravity on the earth’s surface will be (Earth’s radius =R)

TR T IR gl F A SR B Aot g w9 A o s A @ ww wm @ @, @
9 A TR W @ @ (gt f few = R)
r20)2 2 2 2 2

ro r-m re
B @ = (3) =2 (4) =

10
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If the maximum velocity of the bob of a pendulum is V,,, its average speed during
motion from one extreme point to the other will be

AR dew F Mok w1 AwwE AV, R, N @ ww R @ @ W g 9w T F dRm
Juht wer Tfe @

aV, v 2V
5 (2) 2V, .3 ?"‘— 4 —
1) T

(1)

If the weight of a hollow sphere of réﬂative density 5 in water is half its weight in air, the
fraction of its hollow volume would be

5 T T 99 T R ¥ WiEe A9 w1 OE # WR 38F ' F 9R # o |, @ me
F TEa A & fm am
3

1 3 4
1z 2 < @) 2 @ Z

If particles of masses m; and m, have momenta P, and P, respectively but have the

same kinetié energy, then ﬁ—l is equal to

2

IR my; 9N m, FEfa A= FW F GIT FHA: P, qA P, & qA FH e Fw @ @ @, Q@
P frafifen % s @m

(1) ™ 2) | 3) L (4 T2
my my m; nmy

A metal wire is of length /; when subjected to a tension T} and of length I, when the
tension is T,. The actual length of the wire is

g F M A TEE T, 9E F @I [, B N & T, FE W T&R [, 8l TR A s
L |
(1) llT2‘+ lle (2) llTl +12T2 (3) llTl "12T2 (4) llT2 “‘lle

} T2 +T1 T2 "T]_ T2 +T1 T2 —Tl

11 | (P.T.0.)
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The sunlight reflected from the surface of water with oil on it looks coloured because of

(1) total internal reflection (2) diffraction

(3) interference (4) dispersion

ot N gdg W 9 @ wWaida gd w1 ywm oha fewrd ggar 81 @ wR0 R
(1) gof srafe woada (2) frada

(3) =aferaor (4) =ui fasgm

Soap dissolved in water helps in better cleaning of clothes because it
(1) increases the surface tension of water

(2) decreases the surface tension of water

(3) pumps air into the water

(4) removes dissolved air from the water

ot § g @A FOE F S O w9 § gEEE g 2, w6 W

(1) 9t % 9B T W W AT R

(2) it % Y8 TE W e Tar R
(3) wrft # T Wt @ }
4) T # geft T B aw Pea @ R

A cylindrical vessel has water filled up to a length I If a hole is made in the bottom of
the vessel, the velocity of water flowing out of the hole would be proportional to

Qmémmaé——rﬁlamnémww%twa?h%ﬁ%ﬁ@%awﬁmm,aﬁwﬁﬁ
e e ot = A frefafes % e @

(1) 1 2) 12 , (3) 11/2 (@) 13/

12
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The molecules of a vapour are cooled to extremely low tamperature when irradiated by

3 pairs of oppositely propagating Laser beams along the three mutually perpendicular
directions. This happens because of

(1) absorption of light (2) scattering of light

(3) Doppler effect (4) Photoacoustic effect

ﬂﬁﬁ@m%maﬁaﬁmmmﬁmﬁéﬁwﬂaﬁmﬁmmmmwga
maﬁwﬁmﬁmm,ﬁwsﬁmmmﬁnﬁm%lﬁﬁmmﬂm%

(1) T # arawyy (2) T =1 gl

(3) S=R wura (4) YFEfE e

The kinetic theory of gases was first proposed by

(1) Maxwell (2) Bernoulli (3) Newton (4) Dalton
A 3 oy g @ e e 3 serf o
(1) #vgad (2) st3eh 3) =& (4) T

A hollow sphere and a solid sphere of same metal and same diameter are heated to the
same temperature above that of their surroundings. Which of the following is true for
changes in their diameters?

(1) More for hollow sphere
(2) Same for both spheres
(3) More for solid sphere

(4) Depends on size of void in hollow sphere

13 (P.T.0,)



13U/116/25

43.

44,

45.

(325)

@tﬁmgwwamaﬂ@@m@@@mfﬁamﬁmﬁm%méwqm
T qEE % T e s ¥ o = R wmd § fedd F frafafigs § @ -
FUF T B7

(1) @rEs M & R |

(2) a1 At ¥ foag s

(3) 3@ M & foe s

(4) dred M ¥ iR % A W R

The speed of transverse wave along a string of length L is v when it is stretched by -S%

What would be the speed of the wave when the same string is stretched by £5— ?

me@m@%wmmmmmaﬁmv%.mmaa@
é%ﬁamsm,?hmﬁnﬁﬁrﬁ

v v
W 5 (2) 2v (3) 1 4) V2v

Three moles of a monoatomic gas at temperature T are mixed with six moles of another

monoatomic gas at temperature 2T. Assuming the gases to be ideal, the temperature of
the mixture would be

o e % 3 NS awEH T W W i WIS W % 6 i avsEd 2T W
wF-gat 7 fen @ s &) @@ A 6 A smed €, s fisor @ Qo @

3 4 5 3
1) =T 2) =T 3) =T 4) =T
(1) 5 (2) 3 (3) 3 4) 2
A large difference between the wet bulb and the dry bulb indicates
(1) lower relative humidity (2) greater relative humidity

(3) higher dew point (4) approaching storm

14
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I W PF Foal F A B I 9=R AeoRaw w1 o w7
(1) #9 Imfee sndam (2) wfiw smifes anda
(3) st hars ~ (4) AW AT THEH

Alcohol is more volatile than water because
(1) it is an organic liquid

(2) its freezing point is lower than water
(3) its boiling point is higher than water

(4) its boiling point is lower than water

JTchige UHl @ SrEr arsia R, Rt
(1) I8 T& FEfIh ga & (2) 3T feuis ot @ @9 R

(3) su&! wyATH UF ¥ S R (4) IGH R I A FH R

When argon gas in a chamber at a pressure of 5 atmospheres is made to flow into
another chamber evacuated down to 107® torr through a hole of diameter
10 micrometres, then its temperature is

(1) unchanged
(2) increased by a factor of 5
(3) decreased by a factor of 5

(4) decreased to be very close to absolute zero

S 5 ARSI T AR TH KB § AMA MW H 10 AEEHAE = a@ Bg § 1070 torr T
fraffaa wh-g@ #im § yaifea form s R, @ Sww qEw

(1) & weera (2) ufe TN w5 S 2
(3) WE AT W ST # (4) 9 W U YA F Tgd H9 @ W@

15 (P.T.0.)
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48. The most important concept that led to the theory of electromagnetic waves was based

on
(1) Kirchhoff’s law (2) displacement current

(3) Ampere’s law (4) Faraday law

a8 wEEqW TeeaT Rew fagga won @ fagea wiawfca gan @ frefafea w oenafa o
(1) fFate =1 frm (2) faramm amm

(3) wdfrm = frm @) a2 = fm

49. The temperature of the surface of a star is determined on the basis of
(1) Wien’s displacement law (2) Stefan’s law
(3) Planck’s law (4) Rayleigh-Jean law
fret T A war w1 auwn Frafafgs $ omm w 3@ fen s R
(1) &= =1 fapamm 1 fam (2) e @ fem
(3) % = frm 4) @1 =1 frm
50. Saha’s equation of thermal ionization of atomic vapour depends on
(1) temperature and ionization energy |
(2) pressure and ionization energy

(3) temperature and pressure

(4) temperature, pressure and ionization energy
T A F A o % f arer @ e fefafga o finf 2

(1) q9IHT TH AEAT HAl (2) @ WE AEA Feit

(3) AUFA W qW (4) TUEH, TE W@ AGAA FeAl

(325) 16
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A battery is used to charge a capacitor of capacitance C to a voltage V and then

disconnected from it. If charge + g is now given to the positive plate of the capacitor, the
potential difference across it will be

Cmﬁmaﬁ#mﬁaﬁ@%aﬂmvaﬁawaﬁfm%mawmwﬁmﬁ%lamt
ﬁuﬁaﬁwu@mmmmm,ﬁﬁmﬂa%ﬁw@ﬁ%mmﬁmﬁm

(1) V+5‘lc_ (2) V+g | (3) V+_2Cﬂ 4) v

A voltmeter with resistance R has a range of V volts. The value of resistance to be used
in series to convert it into a voltmeter of range 3V volts would be

Ruﬁﬂammmwmv%wﬁmsﬁwmwma,amﬁwﬁ
I iy w1 7= B

(1) R (2) 2R (3) 3R (4) g

The electric current through a semiconductor is due to drift of
(1) electrons (2} positrons

(3) electrons and holes (4) positive and negative ions

sferers A faga um fefefes % opmm % @ a2
(1) @®RH | (2) wiEizi
(3) WHRHT W A (4) GITCHF AT ROMHF AT

The instrument for measuring potential difference without flow of electric current is
called

(1) potentiometer (2) voltmeter (3) electrometer (4) magnetometer

17 (P.T.0.)
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o ow ¥ fagga 9w vanfea foee fomn fasa s 2, 3@ wed @
(1) fosrammdt (2) areeHe (3) TerEIHRR (4) BRI

Polaroids may be manufactured from the following material

(1) quinine iodosulphate (2) calcite

(3) quartz ' (4) tourmaline
drameg a % ol foafafas ogd e @ wwar #

(1) ®F Traede (2) HreETEE

(3) = (4) TTwRa

A Laser beam enters into a transparent lake from air. Which of the following properties
of photons does not change?

(1) Energy (2) Momentum (3) Wavelength (4) Velocity

Th oGS B R EfE F anew oeht F wEw wd @) Pefafee § Q we F 93 ol
F5Ed ?

(1) =i (2) @3 (3) aeed (4) am

In a Young'’s double-slit experiment sodium lamp emitting yellow light is replaced by a
mercury lamp emitting green light. The fringes in the interference pattern will

(1) remain unchanged (2) become thinner

(3) become thicker (4) disappear

T F Y- dE o d Y T A A AW % W W R e A wh S
T S ) safow i § R

(1) vex S @t (2) vaeh & s (3) DA D S (4) TE" | S

18
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58. Two identical convex lenses of focal length f and refractive index % are kept in contact

and the space between them is filled with water of refractive index %. The focal length of
the combination will be

gmmama;fm@mﬁam@am@mﬁmmm
gaﬁﬁwﬁmﬁmm%lmmﬁmiﬁﬁfﬁ

f 3f 4f
(1) 5 (2) 4 3) f (4) 3

59. A nonconducting disc of radius r has a charge g uniformly distributed over its surface.
If the disc is rotated with angular velocity @ about an axis through its centre and
perpendicular to its plane, the magnetic moment of the disc would be

rﬁwm@mﬁw%mmaﬁmqmm@ﬁaﬂaéimﬁw%ﬁﬁ
wﬁm%ma&{%aﬁaﬁtﬁ;ﬁﬁmaﬁvﬁaéﬂﬁmm,amm
syl fefafas dm

(1) Lgor? (2) iqor? (3) gor (4) Lqor

60. Two coplanar square loops of side ! and L are placed in such a way that their centres
coincide. If L is very large compared to ! the mutual inductance of the system would be
proportional to

lamLmﬁa@ammﬁwm@r@aﬁ%ﬁaaﬁ%%@ﬁﬁgmﬁmﬁ
lﬁaﬁmLa@ma,a}mmmmmﬁwﬁﬂ%ﬁ%mm

l L 12 L?
(1) A (2) n (3) A (4) T

(325) _ 19 (P.T.O.
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61.

62.

63.

(325)

CHEMISTRY
(I IR

Which of the following contains the maximum number of molecules?
(1) 36 g of water (2) 44 g of carbon dioxide

(3) 28 g of ethene (4) 150 g of calcium carbonate
frafafaa 4 @ frod sfuswan d@n o o) A &7

(1) 36 g s (2) 44 g FE IFATFS

(3) 28 g 397 4) 150 g *fermm waite

Helium atom is twice as heavy as a hydrogen molecule. At 373 K, the mean kinetic
energy of a helium atom is

(1) half that of a hydrogen molecule

(2) same as that of a hydrogen molecule

(3) twice that of a hydrogen molecule

(4) four times that of a hydrogen molecule

feferm wwmy emgism o @ R A g i ¥) 373 K W, feferm wan  sitma i e

gt R .
(1) ssgrem o fit aneht (2) TEGSA 9] F GHH
(3) ®EgISA g A (4) TEGeA a1 A <

Among the following, which one does not form a hydrogen bond?
(1) Phenol (2) HCI (3) H,O (4) Liquid NH,
frefofaa & @ w9 gEgiom aie T e

(1) ¥a (2) HCI (3) H,0 (4) @& NH,4

20
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67.
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The following reaction can be made to proceed in the forward direction
2H3BO; +2NaOH = NaBO, +Na[B(OH),]+2H,0

(1) by addition of borax (2) by addition of trans.1,2-diol

(3) by addition of cis 1,2-diol | (4) by ‘addition of sodium bicarbonate

frefafga sifufin & wfim fem & wfiefe fen 1w 2
2H3BO; +2NaOH = NaBO, +Na[B(OH)4]+2H,0

(1) a= & FE@e" gu (2) 278 1,2-389 & €A 2

3) fow 1,2-3@@ ¥ @A g (4) e adeEite ¥ @EeE gm

Which gas is evolved when PbO, is treated with conc. HNO, ?
W@ PbO, # §1g HNO; & afufn it ot 3, & #9-a g 3am ot 27

(1) O, (2) N, (3) N,O (4) NO,

The most basic among the following compounds is

(1) Acetanilide (2) Aniline (3) p-Nitroaniline (4) Benzylamine
frfifan A § ¥ A aaies ot 27 |

(1) Wefeee  (2) ofe @) p-TRIFAT  (4) S
Propyne and propene can be distinguished by

(1) Br, in CCl, (2) conc. H,SO,

(3) dil. KMnO, (4) ammoniacal AgNO,

W T WA § feus grr fadg R s 29

(1) CCl; & Br, - (2) &g H,SO, (3) ¥ KMnO, (4) emifEma AgNO,

21 (P.T.0,)
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68.

69.

70.

T1.

(325)

The Cannizzaro reaction is not given by

(1) acetaldehyde (2) trimethyl acetaldehyde
(3) benzaldehyde (4) formaldehyde

FheR sl frad g Il ad 27

(1) YWreiafeens (2) Zfme Refafere
(3) dsrerfeETEs (4) wniafeese

An enantiomerically pure acid is treated with the racemic mixture of an alcohol with a
chiral carbon. The product ester will be

(1) pure enantiomer (2) racemic mixture
(3) meso (4) optically active mixture

shfraela frgg o B sfifen sowea % Wis feew @ f@ sl & @y /@ S
/| TR IWE B

(1) fagg wfefirasd 2) Wftrs e
(3) A& (4) vaRha afFs fEem

Which one of the following would form when an excess of KCN is added to an aqueous
solution of copper sulphate?

TR Fw aehe wehg oY ¥ @ SRR KON s s 2, @ fiefutaa § R gef
Adt 87

(1) CuCN (2) Cu(CN), (3) K3[Cu(CN),]  (4) K[Cu(CN)4]

The spin-only magnetic moment (in Bohr magneton) for Cr(CO)g is

Cr(CO)g ¥ firu wffa graehm ool (s &deiw &) & ?

(1) 0 (2) 2-84 (3) 490 4) 592

22
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75.
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Banana bonds are
(I) 2-electron 2—ce1_'1'tre bonds (2) 2-electron 3-centre bonds
(3) 3-electron 2-centre bonds (4) 3-electron 3-centre bonds
A WS W E |
(1) 2-FwM 2-F= =iz (2) 2-FAKRM 3-Fw wis
(3) 3-7WwH 2-FR ae (4) 3-wHRM 3-FF wie
Which of the following is an ore of iron?
(1) Patronite (2) Pyrolusite (3) Limonite (4) Malachite
frfofgs & & F9-m1 @ de-omm 27
(1) ¥ (2) wTgERe (3) femimge (4) AurETgE
A metal nitrate solution reacts with KI to give a black precipitate which on further
addition of KI converts into an orange colour solution. The metal ion of the nitrate is
@WWE%M%WW%WWWWM%,ﬁKI%mw
ﬁﬁm%maﬁﬁ%ﬁa%mﬁ%ﬁaﬁm%nmﬁzwmﬁmm%
(1) Hg?* (2) Pb?* (3) Bi’* (4) sb3*
In which of the following polymers, the intermolecular force of attraction is the
weakest?
(1) Cellulose (2) Natural rubber
(3) P(;ly (vinyl chloride) (4) Nylon
mﬁﬁﬁaa@%mmw-mww&mgﬁﬂ@m%?
(1) dger (2) wFhF @
(B) Weft (frmer weirs) (4) i
23 (P.T.O0.)
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76.

717.

78.

79.

(325)

Which of the following carbohydrates does not undergo mutarotation?

(1) Ribose (2) Glucose (3) Fructose (4) Sucrose
frefifigd § @ FH-2 FETERSE W R A A

(1) e (2) TR (@) ww (4) gw
The numbers of radial nodes in 2s and 2p orbitals are

(1) 2and O (2) 0 and 2 3) 1and O (4) 0 and 1
2s W@ 2p Fal # fisdg e f den fFad fd R

(1) 2@ 0 2 0w 2 3 1@ 0 4 0w 1

A substance cyrstallizes in a face-centred cubic lattice in which atoms A occupy each

corner of the cube and atoms B occupy centres of each face of the cube. Identify the
correct composition of the substance A,B,

T HE-Hed R{jﬁ%éﬁnﬁ@mwmﬁm’% oo wm A W F RE B W
T T B YW % YOS GEd & W afeud 3 vl A B, F § T RN TwIH R

(1) ABy | (2) A;B  (3) ApB, (4) A4Bj
Rate of the reaction A+ B — products is given below as a function of varying initial

concentrations of A and B :

afufEm A+B > I R T A T B ¥ Wufts ol ¥ fafiw wfwemdt & w4 R & w
2

[Alo/ M [Blo/ M Initial rate M min™!
0-01 001 0-005
0-02 0-01 0:010
001 0-02 0:005

The half-life of A in the reaction is
sfufear & A B rg-amg R

(1) 0-7 min (2) 14 min (3) 2'8 min (4) 1:0 min

24
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81.

82.

(325)

13U/116/25

An azeotropic solution of two liquids has boiling point lower than either of them when it
shows

(1) negative deviation from Raoult’s law

(2) no deviation from Raoult’s law

(3) positive deviation from Raoult’s law

(4) saturation

3 3@ F Wegie 9 @ s A9 ¥ o0 da R, wafE ag
(1) W fawm & wnes gl wefa = 2

(2) W Fam & HY wores Ryl 7@ wefife

(B) W e & s fasgfy uaﬁh F R

(4) Wit &1 weelv w R

The standard electrode potentials of Cu?*/Cu and Cu?*/Cu* are 0-34 V and 0-15 V
respectively. The standard electrode potential of Cu*/Cu half-cell is

Cu®*/Cu W Cu?'/Cu* % AF% gl fva FWW: 034 V @ 015 V & Cu*/Cu
FAEFY T AES fRIe fva @

(1) 019V (2) 049 V (3) 052V (4) 083V
2 moles of an ideal gas is expanded isothermally and reversibly from 1L to 10L at 300 K.
What is the enthalpy change?

@mﬁﬂaﬁazrﬁamﬁwmsooxmuﬁIOLHzBmmaqauﬁa?ﬁmﬁ%m
T ?) duredt § F qRads Bme

(1) 498 kJ (2) 996 kJ 3) 1147 kJ 4) 0

25 (P.T.0.)
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83.

84.

85.

86.

(325)

For the process
wfrn % fag
H,O(1) (1 bar, 373 K) - H,0(g) (1 bar, 373 K)
the correct set of thermodynamic parameters is
yRTgrHifie dodfiet &1 ot g ¢
(1) AG=0, AS=(+)ve (2) AG=0, AS=0

3) AG=(+)ve, AS=0 (4) AG =(-)ve, AS=(+)ve

Benzyl chloride can be prepared from toluene by chlorination with

Age A Frafafea & @ e @y Ffem g deme FUse 9N fR S g 27

(1) SO,Cl, (2) SocCl, (3) NaOCl (4) Cl,/FeCl,

The mean speed of an ideal gas molecules at 27 °C is 30 cm s™'. The mean speed at
927 °C will be

27 °C W T e M9 31 i 91w 1fd 30 cm s7! R, A 927 °C w wew wfy

(1) 30 cm s7! (2) 60 cm s7! (3) 120 cm s7! (4) 300 cm s7!

The same amount of Zn is added separately to excess of H,SO, and excess of NaOH,
the ratio of the volumes of evolved H, is

H,SO, W NaOH % 0fee % @9 oud wRum % Zn & @ied fen smar 3, @ 39 an
TR H, ¥ IWadl @1 oguE B @

1) 2:1 2 3:1 3) 1:1 4 1:2
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The normality of 0-500 M H;3PO; is
0:500 M H3PO, #i woman &

(1) 1-500 (2) 1-000 (3) 0:500 4) 0167

Rutherford’s experiment which established the nuclear model of the atom, used as
beam of

(1) electrons (2) y-radiation (3) helium atoms (4) helium nuclei

T & A fee #@ sfeafe w3 oAt e & wm § fees g9 w1 o R om
q?

(1) oA (2) y-faf (3) fefrm wmy (4) fefermm ~geh

Which of the following has the maximum number of unpaired electrons?
freafafgs 3 d frgd waifos sgfia @ag i wew 37

(1) sr?t () Ti%* 3) v3* (4) Fe?*

The number of lone pair(s) of electrons in XeOF, is
XeOF, ¥ 0% & et gmi #i §em 2

(1) 0 @1 (3) 2 4) 3

The coordination number of a metal crystallizing in a hexagonal close-packed structure
is

& veuE ofaeg wea ¥ fhwdimw @ 9 ol wh ug A geedsh den @

(1) 4 (2) 6 3) 8 “4) 12

27 (P.T.0.)
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93.

94.

95.

(325)

1239A1 is expected to decay to 12:;’ Al by

(1) a-emission (2) B-emission
(3) positron emission (4) y-emission
DAl = g Z Al aF Qar R

(1) o-3I|sE gr (2) B-I@siA A
(3) Mfigty 3cesta gr (4) y-3Est g
Among the following, which one is not a peroxide?
frafafs & & A-w ww Wiwage T 27

(1) Hy,0, (2) SrO, (3) PbO, (4) BaO,
H3BOj3 is a

(1) monobasic and weak Lewis acid ’

(2) monobasic and weak Bronsted acid

(3) monobasic and strong Lewis acid

(4) tribasic and weak Bronsted acid

H3BO,; &

(1) TR wd e Afw e (2) THHTHR W@ gEA TS I
(3) e wE g wfm amw (4) Fareh @ gda giRe I
Which of the following allotropes of phosphorus is most stable?

(1) Black phosphorus (2) Red phosphorus

(3) Yellow phosphorus (4) White phosphorus

28
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ﬁw%ﬁaﬁﬁmmwﬁa-mmwmgf@ﬂ%?
(1) == wiewrg 2) T werm (3) ¥ TERW  (4) BEe W

On heating ammonium dichromate, the gas evolved is

(1) ammonia (2) nitrous oxide (3 nitrogen (4) oxygen
mmﬁﬁm%mm—mﬂamﬁ%?
(1) smifn (2) TgE eI (3) TERNM (4) At

The isomerism illustrated by

[Co(NH‘3)4(NO2)CI]+ and [Co(NH3;),(ONO)CI]*
is
(1) coordination isomerism (2) linkage isomerism
(3) geometric isomerism (4) optical isomerism
[Co(NH3)4(NO,)Cl* T [Co(NH;),(ONO)CI]* Zm1 weffa anraaar 2
(1) weaarsh wmaar (2) Jaeh T
(3) wfirefta wwTaraT (4) weTEha wTEE

The complex in which there is no d-electron in the central metal atom is

T wfmy, R smrla e aifes vy § d-wdeet o 2, 9 2

(1) [Cr(H,0)6]°"  (2) [MnO,]” (3) [Fe(CN)g] " (4) [CO(NHs).s]3+

29 (P.T.0)
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99, Among the following, which one does not have tetrahedral geometry?
frafoflge § 4 fred agsherha safufa & @i ?

(1) [NiCl]* (2) Ni(CO)4 (3) [Ni(CN)4]1?" (4) Ni(PPh;),Cl,

100. Gold dissolves in aqua regia forming

dwh § =l ¥ ged ¥ WG W A 2

(1) AuCl (2) AuCl, (3) AuNOg4 (4) Au(NOj);

101. The ion that cannot be precipitated by both HCl and H,S is
HCl wd H,S Qt grr sm@afia 4 frnm s ook amen ame 2

(1) Ag* (2) Pb2* (3) Cu? (4) Sn?*

102. Adsorption of a gas occurs on a given surface. The process is exothermic since

(1) AH increases for the system (2) AS increases for the gas

(3) AS decreases for the gas (4) AG increases for the gas

@ T waew fret Aw w1 sEwmw @ R W@ uhem w Swnad Fw s 2, wie
(1) whem % @ AH 57 s 2 2) M ¥ fw AS =g oW

(3) M & fIw AS we e R (4) M & o AG =g v }

103. 10 moles of a perfect gas expands isothermally and reversibly from 1L to 10L at 300 K.
The change in heat content is

TF AEE A F 10 Wi SHaTY U IohAo w9 § 1L @ 10L 9% 300 K W fafE @ s
2| afra qRads R

(1) 0kJ (2) 2490 kJ (3) 57-35 kM (4) -55.35 kJ

(325) 30
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In a first-order reaction, the concentration of a reactant falls from 0-8 mol/dm? to

0-05 mol/dm? in 2x10* s. The rate constant of the reaction in s™! is

T YU Hi afufEn d, sifvene f @iga 0-8 mol/dm?® & 005 mol/dm?3 &% 2x10% s

q w2 o ) ofifrw W @-fw sl # R

(1) 1-386x10™* 2) 2x107* (3) 2x10* (4) 3-45x10°5

The rate constant for a reaction which follows first-order kinetics, - varies with

temperature as

w wfifrn & i -fnis, A vm AR TR s W smE w2, TEE % g B

YR yftafda g @
) 4
log k(s™!)=14.34 - 25107 K
The energy of activation is
IRl wfsrao grar 2
(1) 57-46 kJ (2) 957-32 kJ (3) 23933 kJ (4) 59-83 kM

Electrodeposition of 1 gm equivalent of a metal ion requires
(1) 1 A for 1 second (2) 96500 C per second

(3) 1 A for an hour (4) charge of 1 mole of electrons

UF Uife® I F 1 gm ¥ wAged fage swuen ¥ R smavawa 4 2
(1) 13%s & ol 1 A H (2) wf¥ ¥HE 96500 C H

B W Ffauw 1 AH (4) RET F 1 O 7@ H

31
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107.

108.
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The standard reduction potentials for

Zn?* | Zn
Fe 2+ ‘ Fe

are -0-76 V and -0-41 V respectively. The e.m.f. for the cell reaction
Fe2* +Zn - Zn2%* +Fe is

fr=fafeaa

Zn®* | Zn
Fe?* | Fe

% fou ovs omewm fa@ #Am -0.76 V W -0.41 V ¥ v affem
Fe?* +Zn - Zn?* +Fe ¥ fou fagq wrow sa R

(1) +1.17 V 2) ~1-17 V (3) +0-35V (4) -0.35V

When an ideal gas undergoes free expansion, no cooling occurs since the molecules
(1) are above inversion temperature
(2) do work equal to loss in kinetic energy
(3) exert no attractive force on each other
(4) collide without loss of energy
9H T e e g v w@ R, @ B ofeew sew w@ @, wifs o
(1) asH aomm A S B 8
(2) fos =t 5@ F W wE F §
(3) TH-TE W IHNv-gd I TE F
(4) Soi-a & W T § ;
32
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The RMS velocity of an ideal gas at constant pressure varies with density (d) as

@mﬂaﬁRMSWﬁﬁ\mmwm(d)%mﬁqﬁqﬁaﬁhﬁm%

1 1
1) —=— 2) 2
(1) = (2) vd (3) ” 4) d

The pK, of aspirin is 3-5. The pH of gastric juice in human stomach is ~ 2-3 and the
pH in the small intestine is ~ 8. Aspirin will be

(1) unionized in the small intestine and in the stomach

(2) ionized in the small intestine and in the stomach

(3) ionized in the stomach and unionized in the small intestine
(4) ionized in the small intestine and unionized in_the stomach

Qf&rﬁq‘ﬂpKas-S%lm%mm—ra‘ﬂpHd-s%qaii@raaﬁampr%i
AfefE =

(1) 31 7 w& e § e T8 dr
(2) B1& stfa & wmEE ¥ sTREET B 2
(3) s # s A 2w o ate F s T
(4) & sifa & SEEFD @ R w o § e T e

Consider the reaction

Hjy(g)+1;(g) = 2HI(g)

Its equilibrium constant K p Changes with
(1) total pressure (2) catalyst

(3) the amount H, and I, present (4) temperature

33 (P.T.O.)
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frefafaa st

H,(g) +1,(g)= 2HI(g)
ﬁmw—mepﬁm%mqﬁaﬁa'éﬁ?%

(1) T T& (2) ITH
(3) o¥af@d H, @ I, % wfEm (4) AEHH

A certain weak acid has a dissociation constant of 1-0x10™*. The equilibrium constant
for its reaction with a strong base is

w e e @ free @R 1.0x107 ) W ffem ¥ fow @ @@ an F ww ow=
e 2

(1) 1.0x10710 (2) 1-0x107* (3) 1-0x10* (4) 1.0x10%°

A certain buffer solution is prepared by mixing equal volumes of HX and NaX of the
same concentration. If K, for X~ is 10‘10, the pH of the buffer will be

TF IR | A g9R A 8§ HX w@ NaX % fimo @ dwm R sma R, fme @iw @ R
R X~ * R Kk, = 9@ 10710 @, @ aw = pH &M

(1) 10 2 4 3) 7 4) 14

The oxidaticn states of the most electronegative element in the products of the reaction,
Ba02 with dil. HQSO4 are

(1) O and -1 (2) -1 and -2 (3) -2 and O (4) -2 and -1
#fufFn BaO, @ H,S0, % 3@ ¥ fterrw fagq-Fomers oqd i il s@en ad 2
(1) 0w -1 (2) -1 -2 3) -2 T 0 4) -2 W -1

34



115.

116.

117.

(325)

13U/116/25

When equal volumes of the following solutions are mixed, AgCl (K sp =1:8x 10719 win
precipitate only with '

(1) 107 M(Ag*) and 10* M (C1") (2) 107 M(Ag*) and 1075 M(Cl")
(3) 10™® M(Ag*) and 107® M (C1") (4) 107'° M(Ag*) and 1071° M (C1")

wa frfafes drell # wmefeor § @fsw fRn s 2, @ Agcl (Kep =1-8x10710) =1
G Faa Fefafed F @g fm

(1) 10* M(Ag*) @@ 10™* M (C1) (2) 10™° M(Ag*) @ 10°° M(C1")
(3) 10® M (Ag*) @ 107° M (Cl1) 4) 1079 M(Ag*) @ 107'° M (C17)
The difference between the heats of reaction at constant pressure and constant volume

for the reaction

2C¢Hg (1) +150, — 12C0O,(g) +6H,0(])
at 25 °C in kJ is

(1) -7-43 (2) +7-43 (3) +3.72 (4) -3-72
s

2C6H6(l)+1502 — 12C0,(g) +6H,0(l)
¥ fo fér o w@ R o W afifen ¥ e § 25 °C W e kJ # @ 2

(1) -7.43 (2) +7-43 (3) +3-72 4) -3.72

When mercuric iodide is added to aqueous solution of potassium iodide
(1) freezing point does not change (2) freezing point is lowered

(3) freezing point is raised (4) boiling point is raised

35 (P.T.0.)
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s MR SreEE ¥ wem Tie 3 TR andese ®1 gdeE R w8, @
(1) fer R ufwafda =& @ 2) e fag we s R

(3) femrm fog @ sman @ @) wEE fag og s @

During an adiabatic process, the pressure of an ideal gas is found to be proportional to
the cube of its absolute temperature. The ratio C, /C, =y for the gas is

@ﬁ@wm%aﬁm,@mﬁaﬁmmqmm%ﬁm%mﬁ%@m
e fawc,/c,=y # gum R

3 8 5
1 3 (2) 3 3) 2 (4) 3

A sample of radioactive material has mass m, decay constant A and molecular weight
M. Avogadro number N ,. The initial activity of the sample is

G e afra gqd & T W AR om, 1 fORw A @ ewfas M R wErig) e Ny,
R TR f e wfeaa R

AmN 4

(1) Am ) %’" @) (4) mN e

At what temperature is the RMS speed of Ar gas equal to the RMS speed of He gas at
~20 °C (Given atm. wt. of Ar =39:9 and of He =4.0) ?

%ammmmﬁaﬁlzmsnﬁr—zwcm}{eﬂaﬁRMsnﬁt%mm%(&mgm%
f& Ar %1 wamfa® MR =39.9 W@ He %1 =4.0) ?

(1) +80 °C (2) -120 °C (3) 2530 °C (4) 2250-7 °C
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BIOLOGY
(Shafammr)

The ribosomes in Prokaryotes are
NFEicw § wgEm @ #
(1) 80S (2) 508

(3) 708 (4) 308

Plants flowering once only are known as

(1) Pericarpic (2) Monocarpic

(3) Polycarpic (4) Cleistocarpic

$9E T @ T A Rt R s s 2

(1) Yh=fts (2) HARrETH

(3) nehis (4) FR=TH

A group of inbreeding organisms belong to

(1) species (2) genus
A T T et e g #7
(1) e (2) ==
Bacteriophage is

(1) Mycoplasma (2) Rickettsia
A §

(1) wrEhrwerTaT (2) Ferfefirn
Diatom shell is made of

(1) lime

(3) calcium carbonate

(3) family (4) order

(3) dfEmr (4) 2ot

(38) Spirochaeta (4) Virus

(3) = (4) ImE

(2) magnesium carbohydrate

(4) silica

37 (P.T.0.)
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zrmen fa fiffa @ @

(1) = @ (2) Mfiem wEiEEge @
(3) HfAmm #wEe A (4) fafem @

126. VAM represents
(1) saprophytic fungi (2) saprophytic bacteria
(3) symbiotic fungi (4) symbiotic bacteria
VAM & @ 3
(1) FNwEis wh (2) AwmERE SFdfa
(3) dfefes wh (4) wfemfes awdifan

127. The stamens in Cucurbita are

(1) monodelphous (2) diadelphous

(3) syngenasious (4) synandrous

FPlier F R T

(1) WreeRa (2) SERTHH (3) feafemw (4) fa¥gm

128. Fuelgen test is specific for

(1) protein (2) RNA (3) lipids (4) DNA
Faee whew fafe v & fres fag B smr @7
(1) W= (2) RNA (3) fafre (4) DNA

(325) 38
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130.

131.

132.

(325)

13U/116/25

In cyanobacteria, reproduction is

(1) vegetative (2) asexual and vegetative
(3) asexual and sexual (4) sexual

qEEFAfE § g B 2

(1) Fifska (2) @9 @ RAfsa  (3) o w o9 4) 9=

Multicellular jacketed female sex organ of bryophytes is

(1) archegonium (2) carpogonium  (3) ascogonium (4) trichogyne
TAIER F Wedegara F¥dT wg A a8

(1) sreiifam (2) o (3) T=nmfrm (4) ZTEHINITE
Single stranded DNA is found in

(1) tobacco mosaic virus (2) dahlia mosaic virus

(3) Rous sarcoma virus 4) ¢x174

- f&er ¥ DNA wrm S 2

(1) 9% WEs arrE A (2) <efmn dremeE T i

(3) W T e d @) ¢x174

Nitrogen fixation is done by

(1) blue-green algae (2) green algae

(3) red algae : (4) brown algae

TR e e grr fen S 27

(1) -7 o (2) o Yo (3) ¥ ¥ (4) ST TewTg

39 (P.T.0.)
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133.

134.

135.

136.

137.

(325)

Phage particles causing clear areas in bacterial colony are known as

(1) bacteriophages (2) plasmids (3) plaques (4) prophages
Feifere Fie § wE 9 F FRE B dwed H FE W @
(1) SFfEESS (2) e (3) =& (4) WHIS

Heterocyst is found in

(1) Ulothrix , (2) Chlamydomonas
(8) Penicillium (4) Nostoc

RldRe fermi wrn Sman }7?

(1) gefeag (2) FfIEEAS (3) uffaferag (@4) FEEE

The juvenile stage of the moss plant is known as

(1) prothallus (2) spore (3) protonema (4) gametophyte
Fgr dtg F1 frmioeen # fFg w1 4 9 s 27

(1) D" (2) TR (3) WAAw (4) TAAEEE

False indusium is found in

(1) Riccia (2) Funaria (3) Pteris (4) Marsilea
Yon sgfoem fred o S 27
(1) FfRmn (2) wAfEm (3) 2RF (4) arfiffemar

Horsetail is the common name of

(1) Equisetum (2) Ophioglossum (3} Marchantia (4) Funaria

40
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139.

140.

141.

(325)

TiE e wefim am 20
(1) sfageq (2) Nfeareay

A gymnosperm having vessel is
(1) Cycas (2) Gnetum

e e Th STt g 2
(1) @mwg (2) %7

In coconut fruit, the milky water is
(1) free nucellar endosperm

(3) embryo

e & s #F gfmn s g 2
(1) % A e

(3) T

Resin is obtained from

(1) Malvaceae (2) Taxaceae
qa (W) frad ww 27

(1) (2) deramehd

An ATP is
(1) an amino acid
(2) a helical structure

(3) an organic acid

13U/116/25

(3) #HRrr (4) w=ERE
(3) Pinus (4) Cedrus
(3) wE (4) dgg

(2) cellular endosperm

(4) nonendospermic tissue

(2) IgeR USrend

(4) AESrafis foy

(3) Pinaceae (4) Rosaceae
(3) AT (4) A

(4) a high-energy molecule which breaks down to ADP +Pi

(P.T.0.)
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142,

143.

144,

(325)

ATP B @

(1) ©h anf s

(2) & wEUiR wTE

(3) & 9 THs

(4) T 3= oA aren o) W ADP+Pi @ A R

The Casparian Strip is found in

(1) the secondary wall of parenchyma cells

(2) on four sides of endodermal cells

(3) between xylem and phloem cells

(4) All epidermal cells

¥t fw fRead o St 27

(1) Ytmm d9 F fdus afa o (2) tEredd AW F TR AR
(3) IIREW T YA dd & AA 4) T feda aa #
The number of peristome teeth in Funaria capsule is

AT Fge % AW o B den R a2

(1) 8 (2 16 (3) 32 (4) 48

DNA is associated with basic protein like

(1) albumin (2) globulin_ (3) non-histone (4) histone
DNA SR enuryd NEA | g Bl R
(1) Teie (2) gfer (3) ArA-fewda (4) T
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145. The protein rich alga is

(1) Chlamydomonas , (2) Ulothrix

(3) Vaucheria (4) Spirulina

FA-F N feF N A B 37

(1) Fshermary (2) Fenfirm (3) arfay (4) Rt
146. A thallus of Volvox is known as

(1) filament (2) coenobium (3) colony (4) trichome

T & 4w B e w9 F 9 o 27

(1) feemie (2) Frefem (3) wrerf (4) T
147. Heterothallism in fungi was discovered by

(1) Blakeslee (2) Saecardo (3) Bessey (4) Buller

w3 3R @ ey fro

(1) =t (2) @t (3) =h (4) g

148. Irish famine was caused by

(1) Erysiphe graminis (2) Albugo candida
(3) Phytophthora infestans (4) Puccinia graminis
SRR IHA F BF -7 o477

(1) whfad (2) Tegm e

(3) wreRT =y (4) geifar IRy

(325) 43 - (P.T.0.)
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149. A cup-shaped fruiting body of Ascomycotina is known as

(1) pycnidium (2) cleistothecium (3) perithecium (4) apothecium
TR ¥ F0 % TER I¥ Ge TW g9 A Ry w9 ISR 27
(1) urgsRfife™ (2) Feferafmm (3) YfEm (4) wSfrm

150. The stomata of Funaria are found in

(1) leaf (2) theca (3) stem (4) apophyses

wARE ¥ wier e 9§

(1) wat o (2) 9= # (3) @ # (4) wrhERs §
151. In mosses the central conducting strand consists of

(1) xylem (2) parenchyma

(3) coloured cells (4) phloem as well as xylem

¢ ¥ weradl warers o O afmfEa R

(1) v (2) e

(3) Ul a¥a (4) T ® G IEAH fi

152. The number of spores produced in fern sporangium is
o vt § e demel @ den A 2
(1) 32 (2) 64 (3) 16 (4) 128
153. The wing of seed of Pinus is
(1) an outgrowth of integument (2) an outgrowth of the ovuliferous scale

(3) an outgrowth of the fruit (4) Both (1) and (2)

(325) 44
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155.

156.

157.

(325)

T F S @ o R
(1) s&Ew #1 afafes fwm
(3) %@ # fifew famr

The endosperm of gymnosperm is
(1) tetraploid _ (2) triploid
IS F Uy R

(1) s (2) ImwTEE

Chalazogamy is found in
(1) Cucurbita
(3) Pistacia

ERICILLE S

(1) FFfaer & 2) fism dRag

Epigeal germination is seen in

(1) castor (2) bean
(1) ¥ ¥ (2) = A

In areca-nut the edible part is

(1) endosperm (2) endocarp

45

(2)

(4)

3)

(3)

(2)

(4)

@)

(3)

@)

13U/116/25

M@ Sa #1 i fem

(1) @ (2) i
diploid (4) haploid
fewme 4) ¥wE

Pisum sativum

Casuarina

foeerfirar § (4) Fgemfar A

mango (4) All of these

M 3§ (4) ¥ & of i

stony pericarp (4) seed

(P.T.0.,)
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158.

159.

160.

(325)

gu # o= oiw R
(1) werea (2) Teramd (3) it ferd (4)

A cauliflower is

(1) an undifferentiated compaction of leaves
(2) a fleshy inflorescence

(3) a stem

(4) None of the above

T fandt
(1) ofml w1 w i g (2) wF Fft geTEn
(3) Th W (4) 50w § & T

Infundibuliform corolla is a characteristic of the family

(1) Rutaceae (2) Malvaceae (3) Cruciferae (4) Solanaceae
FHegfawd Fen fafafas & @ fre ofer @ R &9 & wafaa R0
(1) v (2) wreraTHs (3) HERG (4) TremmE

Perianth is found in

(1) Ranunculaceae (2) Malvaceae
(3) Solanaceae (4) Liliaceae
TiEEA-gs 9rar I @

(1) THgends § (2) wreamd § (3) HewEd § 4) fafeds 4

46



161.

162.

163.

164.

(325)

A coelomate refers to absence of

(1) body cavity (2) glenoid cavity

(3) pulmonary cavity : (4) synovial cavity

Rtz 1t srefeufy @ o 2

(1) =g FFH (2) e FeA (3) vt FfaH

Benthos refers to organisms living at the bottom of

(1) pond (2) river (3) well
doIs & iy T el AR, A —— F 7@ d g o
(1) e (2) & (3) Tl

Which one of the following causes influenza (Flu)?

(1) Bacterium (2) Bacteriophage (3) Virus

RIS (%) F FE BT 27

(1) dJwdfem (2) AFA@FS (3) fammy

Skink is a/an

(1) amphibian (2) bird (3) reptile

f&s ? @&

(1) 3TN (2) wsft (3) wigu
R 47

13U/116/25

(4) wEfaEe A

(4) sea

(4) &g

(4) Worm

(4) mammal

(4) waTurft

(P.T.0.)
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165.

166.

167.

168.

169.

(325)

A scientist who studies birds is known as

(1) Cardiologist (2) Ethologist (3) Gerontologist  (4) Ornithologist
qfmt 1 e w0 T AW B e S R
(1) FfEAatae (2) 3R (3) RGN (4) orfielaifoe

Glial cells are found in
(1) brain (2) kidney (3) liver (4) spleen
fRre e fred oo S 7

(1) wfeas® 2) T (3) uHd (4) e

Which one cf the following cell organelles other than nucleus has DNA?

(1) Golgi body (2) Lysosome (3) Ribosome (4) Mitochondrion
~ffead ¥ i frafafgs § fem 9 ahfya § DNA qm s 27
(1) Trerft sie (2) <EESH (3) TSN (4) TTgAHITEH

Which one of the following acids, is metabolized in Krebs’ cycle?
(1) Ascorbic acid (2) Formic acid (3) Propionic acid (4) Pyruvic acid
om o § et # A - e B o A 27

(1) tesifds s (2) wifi® s (3) NEfs s (4) TR e

The most abundant compound in living cell is

(1) carbohydrate (2) fat (3) protein (4) water
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171.

172.

173.

(325)

gSfta #y § waifee oo 9@ aen A 2
(1) FmeEgz (2) = (3) WA

Serial segmentation of the body is known as

(1) anabolism (2) catabolism (3) commensalism

TR * Fw G F w@ o 2
(1) wEifersy (2) ey (3) w-ufersn

Ptyalin is one type of

(1) enzyme (2) fat (3) sugar
T @ UF YR F
(1) frvas (2) & (3) w&q

The respiratory organ ‘book lung’ is present in
(1) cockroach (2) bug (3) beetle
W T gE o e § ¥ el oefam g 27
(1) foerm () wemE () ¥m

Diaphragm which helps in breathing is a

(1) bone (2) cartilage (3) muscle
e § qEEE AW}

(1) =fen (2) Imfey (3) wiEdeh

49
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(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)
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S

metamerism

Temfeq

vitamin

fararfem

scorpion

foreg

nerve

(P.T.0.)
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174.

175.

176.

177.

(325)

Pepsinogen can be converted to pepsin with the help of

(1) acetic acid (2) butyric acid
(3) hydrochloric acid (4) propionic acid
R e we @ AR § wfafia g 27

(1) wfes wfie (2) =miE e
(3) TR Te (4) WS e

A chromosome has how many molecules of DNA ?
(1) One (2) Two (3) Three (4) Four
FEE § DNA & awell & e feedt aidt 87

(1) o= (2) & (3) o= (4) =R

Chewing and lapping type of mouthparts is found in

(1) butterfly (2) cockroach (3) honeybee (4) mosquito
I @ 9rq f guar aen gam Rl g s 27

(1) foaeh (2) e (3) wywReh (4) W=

Tick is a bloodsucking parasite belonging to phylum

(1) Arthropoda (2) Annelida (3) Echinodermata (4} Mollusca
el frm woifd 1 & g7 9@ I@ e 27
(1) smytrer 2) Wfa= (3) whHrERia (4) W
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179.

180.

181.

182.

(325)

13U/116/25

Choose the order of phylum Arthropoda which includes insects involved in

transmission of diseases

(1) Diptera (2) Hymenoptera (3) Lepidoptera

amifder yonfy F A W ovER S AR B ¥ W o

(1) fe=a (2) EERAIRT (3) frerdy

Which one of the following snakes builds a nest?

(1) Krait (2) King Cobra (3) Rattle snake
frafafes 4 @ #9-2 o w dud = fln =@ §2
(1) (2) fm Fn 3) e e

Genetics refers to the study of

(1) ageing (2) growth (3) heredity
HARTFA F AT Rl Ty 27

(1) g @ W (@) swEEw
Calottes versicolor is the name of a

(1) bird (2) frog (3) lizard
Feeq affeer T ¢

(1) usft = (2) HeF w (3) foumeft =t

Which one of the following proteins is present in silk?

(1) Actin (2) Collagen (3) Elastin

51

(4) Orthoptera

(4)

(4)

(4)

(4)

(4)

)

(4)

(4)

K8 D=y

Python

immunity

7 wfedlas e

mammal

TR

Fibroin

(P.T.0.)
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183.

184.

185.

186.

(325)

Ym § fefifes § ¥ F-T AT T S 27
(1) Y (2) WrARH (3) wenfed (4)

Which one of the following is a free living worm?

(1) Filarial worm  (2) Planaria (3) Liver fluke 4)
frafaflga & @ 7 s B-Afim Fh 7
(1) frenfaa s (2) =AfEr (3) fo=m = (4)

‘Fauna’ refers to total life in a given region, consisting of

(1) animals (2) bacteria (3) plants (4)
‘B’ A v tw i & § oafm ot @ R, e iR e @
(1) 7q (2) FFfa (3) drew (4)

Chitin is found in the exoskeleton of
(1) insects (2) snails (3) starfishes (4)

fafes e s 330 ¥ s R0
(1) e (2) Hi= (3) T wae 4)

The fluid remaining after clotting of blood is known as
(1) lymph (2) plasma (3) semen (4)
T &% S % Ag aiE we v W e w F S s R0
(1) = (2) e (3) (4)

52

Tapeworm

H Fh

viruses

feramy

leeches

Sl

serum
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189,

190.

191.
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Which one of the following organs needs constant supply of glucose?

(1) Brain (2) Kidney (3) Liver (4) Spleen
ﬁnﬁﬁwﬂz%ﬁmﬁn#qﬁaﬁﬁwmﬁmﬁﬁ?ﬁ%?

(1) wferss (2) T (3) =Fa (4) e

Which one of the following layers of gastrula gives rise to brain?

(1) Ectoderm (2) Endoderm (3) Mesoderm (4) Trophoectoderm
= 4 & fgen 1 Ara-d v wfers = Rem @ 20

(1) wdred (2) uered (3) nEred (4) Tiewered

The word ‘cephalic’ always refers to

(1) head (2) hand (3) leg (4) neck

Yeifas’ et wder fFg o @ wreg B 27
(1) R (2) ™ (3) ¥ (4) tar

The shaft of a long bone is known as

(1) diaphysis (2) epiglottis (3) symphysis - (4) ﬁeuropophysis
el Afey & A # w@ a2
(1) SrHERE (2) ufrifem (3) Rrwrfam (4) =OreTsiaE

Feathers of birds are modified

(1) bones (2) cartilages (3) nails (4) scales

53 (P.T.O.)
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193.

194.

195.
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uferl % @ fRad gl g w0 A §7
(1) ifern & (2) InfEEt & (3) @ & (4) @Fd &

A substance secreted by eggs of some animals to attract sperms is known as

(1) fertilizin (2) insulin (3) interleukin (4) elastin
Fo TRE % ot @ frge | ugd, SifF pE A oTEfia W 8, wEera @
(1) wEamtm (2) sgfem (3) FTHfH (4) wafeA

Wuchereria bancrofti causing filaria belongs to

(1) Arthropoda (2) Annelida (3) Nematoda (4) Mollusca
fioia A1 F FRE JRATT dFw fF ofmn @ g 27
(1) enedreT (2) W= (3) AW (4) W

Which one of the following is the world’s largest lizard?
(1) Komodo Dragon (2) Monitor lizard
(3) Garden lizard (4) Sphenodon
fafaflgs 4 @ #9 faw it watfos o<t fouweht 27

(1) = M (2) wift faend (3) meEA faens (4) THAEA

The hormone thyroxine is derived from

(1) alanine (2) glycine (3) tyrosine (4) valine
urifFes g fhad ww dan @7
(1) TamTE (2) msfm (3) TR (4) &
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197.

198.

199,
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Which one of the following ions is important for muscle contraction?

(1) Cadmium (2) Calcium (3) Potassium (4) Sodium
nmﬁm-#w%mﬁw%&aaﬁﬁﬁ:-mwm@f%?
(1) Fefiem (2) FfArm (3) NafRrm 4) @ifem

Which one of the following vitamins is an antioxidant?

(1) Vitamin B complex (2) Vitamin C
(3) Vitamin D (4) Vitamin K
frfafan & @ a-w fofe wieifmee 27

(1) e B #irdw (2) feafm

(3) fearfim D (4) faafim K

t-RNA is found in
(1) cytoplasm (2) nucleus
(3) cell membrane (4) ribosome

t-RNA qrn smar

(1) amarary o (2) feaag (3) ¥w AT A (4) TgEw A

Which one of the following endocrine glands has Sertoli cells?

(1) Adrenal (2) Thyroid (3) Ovary (4) Testis
ﬁmf%r&gaﬁﬁﬁmaia:mﬁﬁﬁqﬁaﬁaﬂaﬁﬁmm%%?
(1) W= (2) ufgTe (3) Iad (4) feg

55 (P.T.0.)
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200. Any substance that induces cells to divide is known as

(1) collagen (2) glycogen (3) mitogen (4) mutagen
a6 ¥ Fradem ® IAtE I g g B e S
(1) e (2) TATEHISH (3) wIEISH (4) TEWE

* * *
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